3apaga. HalTy KMHeTH4eckylo IHEepPruio oQHOPOOHOH HPAMOYVIOJLHOH
MIACTHHKW Maccoll m = B Kr, 3aKpenneHHol MAPHUPHO HA TPeX CTEpPMKHAX
napannenbHo maockocTWw ry (pue. 182). Sapana ckopocTh BepmMHb D
vpr = 12 wmjc, vpy = 2 mfc, vp, = 0. Pasmepn Ha pucyHKe OaHb B

METpax.

>restart;

Pa3zmepsnr

>a:=4: b:=2: c:=2:
CkopocTh 1 Macca

>Vx:=12: Vy:=2: Vz:=0:

Koopaunatsl

>x:=b,0,0,b, 0,0,0:
>y:=0,0,a,a, 0,2,6:
>z:=¢,c,c,c, 0,0,0:

Pue. 182

6:

>for i to 7 do rl[i]:=[x[i],y[i],z[i]]:0d:

>with (LinearAlgebra) :

>with (plots) :with (plottools) :

Pucyem nnactunky

>rl:=PLOT3D(CURVES ([r[1],r[2],r[3],r[4],r[1]])):

Pucyem crepxHu

> r2:=PLOT3D (CURVES ([r[1],r[5]], [r[2],x[6]],[c[3],2[7]1])):
>display(rl,r2,axes=NORMAL) ;



Pannycel

>ra:=Vector ([x[1],yI[1],2z[1]1]):
>rb:=Vector ([x[2],y[2],2z[2]]):
>rc:=Vector ([x[3],yI[3],2z[3]1]):
>rd:=Vector ([x[4],y[4],2z[4]1]):
>ral:=Vector ([x[5],y[5],2z[5]1]):
>rbl:=Vector ([x[6],y[6],z[6]]):
>rcl:=Vector ([x[7],y[7],2[71]) :;

>DA:=ra-rd;
>DB:=rb-rd;
>DC:=rc-rd;
>AAl:=ra-ral;
>BBl:=rb-rbl;
>CCl:=rc-rcl;
BekTopa ckopocreit
>Va:=Vector (3,va):
>Vb:=Vector (3,vb) :
>Vec:=Vector (3,ve):
N3BecTHas CKOPOCTH

>Vd:=Vector ([Vx,Vy,Vz]):



BB1:

Il
1
N

CCl:=| -2

HewusBecTHas yriioBas CKOpOCTb
>w:=Vector ([wx,wy,wz]) :
VYpaBHenus Diinepa
> eql :=-Va+Vd+CrossProduct (w,DA) ;
—va(l)+12+ 4wz

eql = —va(2)+2
—va(3) — 4 wx
> eg2 :=-Vb+Vd+CrossProduct (w,DB) ;
-vb(1l) + 12 + 4wz
eq2:=| -vb(2)+2-2wz
-vb(3) — 4 wx + 2 wy
> eq3:=-Vc+Vd+CrossProduct (w,DC) ;
-vc(l) + 12
eq3 :=|—vc(2)+2-2wz
—vc(3) + 2wy
CBs3u
> eq4d :=DotProduct (Va,AAl,conjugate=false) ;
> eqgb:=DotProduct (Vb,BB1l,conjugate=false) ;
> eqg6 :=DotProduct (Vc,CC1l,conjugate=£false) ;
eqd =2va(l)+2va(3)
eq5:=—-2vb(2)+2vb(3)
eq6 = -2 wvc(2) + 2 ve(3)

12 ypaBHEeHUI
>



EQ:=seq(eql[i],i=1..3) ,seq(eq2[i],i=1..3) ,seq(eq3[i],i=1..3) ,eq4d,eq

5,eqg6:

>

solve ({EQ}, {seq(va(i) ,i=1..3) ,seq(vb(i),i=1..3) ,seq(vc(i),i=1..3) ,w

X,wy,wz}) ;assign (%) ;

{wx=0,wy=4,wz=-3,va(1l)=0,va(2)=2,va(3)=0,vb(1)=0, vb(2) =8, vb(3) =8,
ve(1l)=12,vc(2)=8,vc(3)=8}

Paanyc-BekTop nenTpa macc
>Rc:=Vector([b/2,a/2,c]);

Rc:

1
N

>Dr:=Rc-rd;

Dr:

1
1
N

Niem ckopocTh IIEeHTpa Mace
>Vcm:=Vd+CrossProduct (w,Dr) ;

Vem:=| 5
MoMeHTBI J505(5102007051

>Jx:=m*a”2/12:Jy:=m*b*2/12:Jz:=Jx+Jy:
>J:=Matrix([[Jx,0,0],[0,Jy,0],[0,0,02]]);

8 0 O
J=10 2 0
0 0 10

Kun.sneprus
>
T:=m*DotProduct (Vcm,Vcm, conjugate=false) /2+DotProduct (w,J.w,conjuga
te=false)/2;
T:=292



